White Rose
MATHS

There are 6 ts altogether.
Half of 6 ie 3.

Year | Block 10 Unit: Froactions
Key Viocabulary:
half halves quaurter whole part
What will I know hy the end .of this unit?
Recognise and find half: Recognise and find quarter:
2
The whole has heen split into 2
equal parts. The whaole has heen split into 4
There are 2 halves in a whole. equal parts. There are b4
quarters in o whole.
Find .o half of o quantity: Find a half of a quarter:
Thzg)’uéayzbm/shm.@d.mto The o5 have | hared
e,q,uai Y OUPA. into &4 equal groups.
Each group is 2 of the Each group is o quarter of the
whole. whole.
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A gquarter of 16 is k.




